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5.4: Trigonometric Equations Part I

Ex. #1: Solve using exact values 4sin Q X — % =2 0<x<2m
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Ex. #2: Solve using exact values. 2cos3x|=+/3 0 < x < 2m
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Ex. #3: \/§c0+ 5=4 Find a general solution using exact values.

G:l(m%}

JZcos ® +#5= Y4

ﬁ_COS@t-—\
~ |
coSd = —
J2
N 9| V\CCL:I
=1 A /D L/
|
-1
81-:7 ’;'
;QT
L/
T\ - 3T
2/&*33“’7
. 30
+ ==
X, 7= 32
8r. 91
X,+0?L/ %
X, = -
| QH

G eneval So\u\womi Ad on (pgmo(ﬁ\vw

‘/'0(& - _Z/TT’- =
pe 3

= 1
SZ«W#,
1
= oI
1
T :&7—
02/)(2+5 y
X, + L < 57
3
y, + BT . T
224
Xy 2T
a4
_ T+ nll _
x/a?/'f# neél
X= 204 nll

a'f



Pre-Calculus 12

Ex. #4: Solve accurate to 2 decimal places d:l@/
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